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General Instructions;

I All guestions are compulsory.

2 The question paper consists of 31 questions divided into four sechions A, B, C and
D. Sectian-A comprises of 4 guestions of | mark vach; Section-B comprises of &
questions of 2 marks each: Section-C comprises of 10 guestions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each,

1 There is no overall choice in this question paper.

¢ Use of calculator is not permatted.
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Question numbers 1 tn & carry one mark each

1 AATIC H, P 78M Q AT AR 798 AC % men. B 3 i) T e fapQipe 31 !
L2 lin AABC, P and Q are the muddle poinks of ABand AT, Prove that POY[BC.
. TE Apqr ¥ F: W p, q 5t A €, 1wy f 1
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i P, O and 1 are the intersor snghes of APCIR, thon dhiow ther |
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E| b w3y — 155 =, Mo & WA F0 EEn i
-~ U tan kv~ 15%) = 1. then Ao the valee ol 3
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Wilk = 2 bt ama = s em R

- Firad sreschin of the dhata, tiging am erpprical relation whee o s g fven dual
mreadie= 1Y 4 aund pean: =105,
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Cuestion numbers 3 o 10 carty two marks each,
firg FITT F6 WA TUAD 91 187 B v eA 10 76§ 2
Show that the numbers 143 and 187 are not co-prime.

et Tavmm ey fem --'-:-’Ef w1 TS wan et -
Write the decimal expansion of ;ﬂ; woithisut sctual division
=
7 wf i fe 3 it arier s e sni, .
y-a=1 =
‘-",‘th 7
Find whether the following pair of linear equations is consistent ar incomsistent
y=3x=]
e T o e R gt o 0 4541 W Ag <3 F EOW ER B AR g FH e 2
il
Shény thiat piny positive ddd iteder (=00 the toom 2g+ 1 o 8 + 3, where g s saime 'F"“:“f Infegues —
fit tan (A + B) STCNTHT BT B S0 cot (A B) = o3 B, 71 A 37 @ 50 s 2
Given tan {A + B} Is not defined and cot JA—8)= /3 find Aand B
I TEu T wEEnE Sz HEd | ﬁm%sﬂﬂﬁ{ﬂdﬂaﬁmmﬂ'ﬂ% .
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Given below is a frequency distribution table showing daily income of 50 workers of a factory

E."?“‘;;}'j 200-250 | 250-300 | 300-350 | 330400 | 400450

Number of workers | (6 10 12 | 08 14

Change this talbe to & “less than type’ cumulative frequency table.
EHTE-F [ SECTION-C
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Question numbers 11 to 20 carry three marks each.

5 4] W SR B @E e @ St w6 B2 e T 20 F i faaf 3

Find the smallest mumber of 5 digits whach s exactly divisible by 12, 16 and 20

HEAT daf - 50— 307 — dAr — 2 W] AFTE g(v) T OWE ST W NPIHE A% INEE FEE: - -5
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On aividiog the polynomial 414 - 5 = 395~ 460 — 2 by the polynomial gir), the quetient and

remainder were 12 =97 =5 apdl = Gy + 8 respeclively. Finwd g (X}

v & m W & e E e o = 3 4 28R 0 - 4 5 YR @ AT 3

Fiy what value of 1 both the polynomiaks v7 <3 1 2 and 1% — 62 + 5 becomes zero?
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Solve the following pair of linear equations by the cross multiplication method :
r+ =2
r—3y=7

15 o e & 40 OFEN WSS 0w W90 W 1R e e wd (2 ) e ramy e 3
Emﬁl?lm%:

wd (A S00-700 | 700-900 | 900-1100 | 1100-3300 | 13001500

Wﬁﬂlﬂ & {10 1 9 T
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In a locality, weekly expenditure of 40 familles on  froils and  vegetables
{in rupees) is given in the following frequency distribution :

E:ﬂ?}"“m | 500700 | 700900 | 900-1100 | 17004300 | 1300-1500
E::::f;"’f 6 8 10 9 7

__Find the mean weekly expenditure, -

16
el W HME 4, NN W A TR S T mﬂmm L RE= i Mﬁﬁtmm 3
= femm -
A [03 |36 [69 [912 |[1235)
ma |2 |4 5 1 2
T NTEE ¥ NEAE 9 RO
A group of students conducted a survey of their locality to collect the data regarding number
of plants and recorded it in the following table :
Numberof plants [ (-3 (36 |69 | %12 | 12-15
MNumber of houses | 2 4 5 1 2
Find the made for the above data = ~
17 fawie AR W A e R, S e 3

oo dnce 4
sin 357 ¥ oI S5 | 5 (Al 5 (25" tanbi” tan65" tan75°)
ﬁ" s 15* —cat® 75"

Without using trigonometric ble, evaluate

S AT Y ENIT 5 I3 (e an2S® e Rk, b7
st 13% —eot” AT
18 CECIERR I 3

dﬁiﬂﬁrmlﬂ = tandl 4 coh
g, Wrowe the ddentity -

Jame + posecTB = tanl 4 cot
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t:
015 15330 | 3045 | 4500 |60-75 | T5-90
Wﬂn T 15 = [ 10
mﬁmmmaﬁm .
In annuial examination, marks (out of 90 obtained by students of Class IX in mathemiatics are
given below . gl i
“Wlarks 015 [ 1530 [30-45 [4560 |60-75 | 75-90
Number of students | 2 4 5 20 9 10
20 ﬁsn#ﬁwmﬂml 3
a7 25 =30 |30 - 35 [ 35 - 40 [ 40 — 45 [45 ~ 50
s | 12 A 14 |8 9
For the following data, find mode - —2
Class 25—30 |30 35|35 ~-40 | 40 - 45 | 45 - 50
Frequency | 12 f & |8 |9
HTE -2 [ SECTION-D
TAWE nAndrEEE s §
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g #ifm i J5 we st e @ i 3 - 2S5 o vw sl Hen & 4
Prove that 5 ' an veational number, Hence shuw a3 ¢ 245 is ko an fristiona]
_ e Rt _
22 T 9 — ) — 502 4 D - 4.-'1:?:1@23114 B g 2 v apEs i i 4
= Dbtain ail other zeroes of the polynomial 914 — 633 — 352 + 245 —4, if two of its zeroes are 2
amdl 2
23 Feres £ SirapioET g W e P 4
A+y==8
6r = 5y = 15
T T w1 1 - 0 % W T T i wray A g e & vind 3 Frles fafa)
' Draw the graph of the foliowing pair of linear equations
x g
61 - 5y =15
Shade the region bounded by these lings and & =0, Alig write the coordinates of the vertices of the
trungle.
24 ey e wsl ol qEeEl & e o e &3 W Foda e Al s aeE en g, 41 4
- e o T 20 e T Wl 7 s el w9, A w7 0w e a5 Rt men
# aML W W] ST I T | g A e e e g
srpa % Fegmlf & g sm 3% & alt o odf Fiv=a e #on 7
Anuj decided o dopate some money ot books tor the children living in an orphanage. 1f
there are & children less. everyone will get ¥ 20 move, 1F there are 7 children more, everyone
will pet T 0 fess, What is the number of childeen ond how nuw b does each get 7 What is the
Fage s of o
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total amount distributed 7 Why Anu decided to distribute money for books 7
25 aaEmm g § AC W g B 58 WR # AB+AD=BC+CD #1 @R AB=2, BC=h 3R 4

CO=d &  x 7w Sty (h s d S i d)

J= N

In the right triangle, B is a point on AC such that AB+AD=BC+CD, f AB=y, BC=h and
CD=d, then find x {in terms of b and d)
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% A Ad® ABCD § CD w1 wen- i ) o vams oM e T R, AR AC WL T w4

¥ 3 AD % we ™ E o faenn & foz #ifen i EL=28L #)

In a parallelogram ABCTY, the middle point of CD 5 M. A linc scgment BM
is drawn which miersects AC at L and mwoete AD extended a1 E. Prove that EL=2 BL
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A =
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dcos*A =3 | -Man“A
7 4 = dein= G T
- il sy = ILi__ghﬂ-wH-,.m ‘ 'Em A - tan .-.ﬁ
H deos=A = 3 P
z_a af2 casih - sin® = 7 sing & o g Ffa0 fF cosh + sind = N b 8 -
Frosh — sinfl = JZ sind, then prove that cosh + sinb = 2 cnad
43 firg wifary fir ,

|l:.'l'.h5l_‘l.'.|'"'.|-+ 2oosA . sind 4ot b+
- o e ¢ o e e wemmes ET. i ma , - -

YoosecA — 2 008A sinA - vosA ana — 1
Prowie that
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2 median = D watan + nenol g

jmﬁx_ﬂ+”cl:mﬁ.. ginA + cosA _ tani + 1
cosicd — 2oosdc  sinA = o0sA  tna -

30 ﬁLmeW.Tﬁmﬁftmﬁzﬁ 3= i 5 o wrd R e 4
: S000)- T7000- | B000- | 9000- | 10000 | 11000-
mﬂﬁ_}_ 6000 | 9000 | 10000 | 11000 1m|
afd ,
- 4 8 :9 0 13 d 1
wAa
I AEE W, T 8 &6 b G AW wh 8 5 % wEH 1 Anm e 59 o a9t @
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Following frequency distribution shows the monthly expenditure incurred by some families
in i housing comples |

{Expendifire | 5000- | 6000~ | 7000- | 8000- [ 8000- | 10000- | 11000-
in®) 000 |7op0 | BO00D | 9000 | T0000 | 11000 | 12000
Number of
| families 4 B \ 20 13 r? 1
Draw “less than type’ ogive and a ‘more than type’ ogive. From these two curves, fiod the
meschian,

31 ﬂﬂﬁmwmmﬁmmmﬁ?ﬂmeﬁmhﬁﬁmﬁ'ﬂﬂm1w 4
&, @ e sicarond x o g e e

fomeag 144- 148- 152- 156- 160- 164-
e (em H) 148 152 |56 |10  |1es |18
WA | 8 15 ¥ 16 6

The frequency distribution given below shows the heights of 60 students of a class. If mean of
_I'J1_nd£i315'?, ﬁmlﬂremlssm;[mumdﬁund 1.
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